K0479

EtiX| 72 HYEH LF0l5

&5 89/HMF ololx|

© HEINRICH KIPP WERK GmbH & Co. KG

THE!:

d20lE AR AZ S E A3 DIN 7984 2! €2t L-{E DIN 985, A
El

EM OpR2]:

s Aot

www.kipp.com - info@kipp.com 1/4



K0479

EHX| 7E 7{9E 2205

&5 89/HMF ololx|

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/4



K0479

SR FE HUE L20)E

=M
— D o
e i~ S 3 -
N
//—’\\ ‘ | \
\ . b w
| — |
&
! ___l ‘ .
= | I . A | J :
| : ! 1
- U -
= H .
(r a\
- v
]
| - = U
|
\S )
I
- U
H
M — o
U ,%‘r
1 N (— )
) @‘ ' {1)
cn .
o H-- " e <
B
\- -/ - -/
| |
=29
EHX| R2 HYE, 2R0|=
FEHS ’g"%’k% A B C b E F G H K L M N O P S U
2
K0479.512 1 12,1 5,5* (2x) 18 25 35 31 35 38 325 41 5 5 - 23 M6x20 40
K0479.514 2 14,1 5,5 (2x) 18 256 35 31 36 - 325 41 50 5 - 23 M6x20 40
K0479.515 2 15,1 5,5 (2x) 18 256 35 31 36 - 325 41 50 5 - 23 M6x20 40
K0479.516 1 16,1 5,5* (2x) 18 25 35 31 35 38 325 41 5 5 - 23 M6x20 40
K0479.518 2 18,1 5,5 (2x) 18 256 36 31 356 - 325 41 50 5 - 23 M6x20 40
K0479.520 1 20,1 6,5" (2x) 30 40 40 50 55 53 53 63 78 7 - 33 M8x25 60
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  3/4



SR FE HUE L20)E

ES Y%
TEHS Qi*ré A B C DEFGH K L M NOTPTR R S V]
L=l
K0479.525 1 25,1 6,5 (2x) 30 40 40 50 55 53 53 63 78 7 - 33 - M8x25 60
K0479.530 1 30,1 6,5 (2x) 30 40 40 50 55 53 53 63 78 7 - 33 - M8x25 60
K0479.540 3 40,17 8,5 (4x) 42 56 60 70 80 80 74 87 105 10 60 40 52 M10x30 82
K0479.550 3 50,22 10,5* (4x) 50 66 65 83 90 98 85 98 128 14 62 45 60 M10x35 100
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/4



